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Q1.
Problem 1.1 on page 39 of Textbook 

Q2.
Refer to Figure 1.13 on page 27 of the Textbook. Redraw the diagram assuming that the disk ISR has erroneously been assigned a lower priority than the printer ISR. Identify all time instants on which all three ISR's would finish under the new assumption.

Q3. 
Problem 2.1 on page 101 of Textbook

Q4. 
Read appendix 1A and answer the following questions:

-What is the difference between spatial and temporal locality?

-Comment on the behavior of C and Pascal as per assertion 1 (Refer to Table 1.3 under [PATT82])
